| Efficiency vs Dxy |

s dxy

©

efficiency v

Ratio

0.45

0.35

0.25

0.15

0.05

0.5

o
N

o
[

0.2

0.1

........................................................................

........................................................................

1.

0.95L

e

o

—2520151050 510152025

TP dxy (cm)

| Efficiency vs Dz |

s dz

>

C|ency

=

effi

Ratio

0.5
0.45
0.4
0.35
0.3
0.25

0.2

0.15
0.1
0.05

.....................................................................

0.95

|||.|||f'llllllllllllqlllllll

30 =20 -10 10 20 30

TP dz (cm)

—=— _/.JCMSSW_13 2 X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

—— DQM_TT__mkFit-DQM_newfast132



	Contents
	Page 1


